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1 | 22¥d B+ X595 =[Formalin, Formaldehyde| 1,500,000 200,000
© 50-00-0] @ o]2 19% o] 3hg-eF I

2 |W¥e s =g} [Methylhydrazine ; 60-34-4] % o]& 300,000 10,000
1% o] A+ ‘1—06]- &=

3 |25 HFormic acid ; 64-18-6] % ©o]& 25% o4 1,500,000 20,000
gk = E

4 e <3 g [Methylalcohol ; 67-56-1] % ©]& 85%/| 1,500,000 200,000
ol e E¢=

5 |#A[Benzene ; 71-43-2] ¥ o] & 85% o] k-3t 1,500,000 10,000
o=

6 |93 vWlE[Methyl chloride ; 74-87-3] % ©°]& 1% 300,000 10,000
ol st =%

7 | W€ ol [Methylamine ; 74-89-5] ¥ o] & 25% o©] 300,000 10,000
d el EE

8 | Alet3} v’FZ]:[Hydrogen cyanide ; 74-90-8] % o] E 300,000 1,500
1% o]/bl— 51 ']— i'&l—m

9 |93} W d[Vinyl chloride ; 75-01-4] % ©]& 0.1%| 1,500,000 200,000
ol e E¢=

10 | o] 83} &4 [Carbon disulfide ; 75-15-0] % o]& 300,000 10,000
01% o4 &3 3=

11 |43} o€ d[Ethylene oxide ; 75-21-8] % o]& 1,500,000 10,000
01% o|% &73 =&

12 | =2 4I[Phosgene ; 75-44-5] & o]& 1% o]A 3 75,000 750
sk &3t

13 | EglWl € o}l [Trimethylamine ; 75-50-3] % o]= 300,000 10,000
25% ol Tid £ =

14 |23} Z 2 F 3 [Propylene oxide ; 75-56-9] % o]Z| 1,500,000 10,000
0.1% o]/ &gt &3=

15 [H¥e o"d AE[Methyl ethyl ketone ; 78-93-3] % 1,500,000 200,000
olF 25% ol i ==




16 [H¥Y #Ald AE[Methyl vinyl ketone ; 78-94-4] 2| 1,500,000 200,000
olF 1% ol 73 ==

17 |oF=Z 2 AH Acrylic acid ; 79-10-7] % o] & 25% o]4+ 1,500,000 20,000
Sh3t &3t E

18 |H¥ o}=Z "y ol E[Methyl acrylate ; 96-33-3] 2 1,500,000 200,000
o] 25% ol T3 ==

19 | Y E 2wl Al [Nitrobenzene ; 98-95-3] % o]& 25% 1,500,000 20,000
ol i3t £3E

20 |[4-Y E 2 EFq[4-Nitrotoluene ; 99-99-0] % o]&| 1,500,000 20,000
25% o] st E3E

21 |wla ZF=2ZeFo] =[Benzyl chloride ; 100-44-7] 2 o] 300,000 10,000

25% o] st £ E

22 |oFZ =49 A[Acrolein ; 107-02-8] ¥ o] = 1.0% ©|% 300,000 10,000
skl &3k =

23 |42 ZF=2g o] =[Allyl chloride ; 107-05-1] ¥ o] = 300,000 10,000
25% o] st E3E

24 |o}maE 2 YU EH[Acrylonitrile ; 107-13-1] % o]Z| 1,500,000 10,000
0.1% o]’ i3t 3=

25 ol g @l t] o} [Ethylenediamine ; 107-15-3] ¥ o= 300,000 10,000
25% ol 3t ==

26 |42 3 LE[Allyl alcohol ; 107-18-6] Z o5 25% 1,500,000 20,000
ol Rt £3E

27 |m-Z 9 Z[m-Cresol ; 108-39-4] % o]&E 5% o|4 1,500,000 20,000
stk 23 =

28 | Z=F<l[Toluene ; 108-88-3] 2 o]& 85% o] df 1,500,000 200,000
3 3=

29 | ¥l =[Phenol ; 108-95-2] % o]& 5% o]4 3F#-3F 1,500,000 20,000
3=

30 [n-F9oldl[n-Butylamine ; 109-73-9] 2 o]& 25% 1,500,000 200,000
ol Rt £3E

31 |[Eg]o € ol [Triethylamine ; 121-44-8] % o] 300,000 10,000
25% ol e E3E

32 |} A EAE Oﬂ‘:é[Ethyl acetate ; 141-78-6] % o]= 1,500,000 20,000

A




33 |A1¢t3} Y EFH[Sodium cyanide ; 143-33-9] 2 o] = 300,000 10,000
1% o)A stf3 &5, vk W= A (Ferric
ferrocyanide) + 33 < (Potassium ferrocyanide) « %
& o (Potassium ferri-cyanide) ¥ 1 % 3tU= 3
fret EEd-2 Al

34 |ol € #:o]Fl[Ethylenimine ; 151-56-4] ¥ o]& 25% 1,500,000 20,000
ol e ==

BlE F A -2 ,4 -1 o & A ofF ¥ o E| 1,500,000 20,000
[Toluene-2,4-diisocyanate(2,4-TDI) ; 584-84-9] %
o] & 25% ol T3 Ed=

36 |¥44F3} A [Carbon monoxide ; 630-08-0] % o] = 300,000 10,000
25% ol T £F =

37 [otad=2d Z 2 go] =[Acryloyl chloride ; 750,000 20,000
814-68-6] X o] & 25% ol 3t =3 E

38 [?138} o}<[Zinc phosphide ; 1314-84-7] & o]& 1% 300,000 10,000
ol e ==

39 (g o€ AE HAikstE [Methyl ethyl ketone 750,000 10,000
peroxide ; 1338-23-4] % o] & 25% o] $H/3 &
4=

40 |g o] A eHAE o] & X E[Isophorone diisocyanate 300,000 10,000
4098-71-9] B o] & 25% o]} i EFE

41 | Y EE([Sodium ; 7440-23-5] % o]E 25% o] g 30,000 1,000
et 5 E

42 |93} =A[Hydrogen chloride ; 7647-01-0] % ©]=| 1,500,000 20,000
10% ol g3 =&

43 | E2F 2. 23} A[Hydrogen fluoride ; 7664-39-3] % 150,000 1,000
ol 1% ol i3t ==

44 | E Yo Ammonia ; 7664-41-71 2 ©]E 10% ©°]4F| 1,500,000 20,000
et =3 E

45 | &4HSulfuric acid ; 7664-93-9] 2 o] & 10% ©]4| 1,500,000 20,000
et =3 E

46 | A4HNitric acid ; 7697-37-2] R ol & 10% °l/ &| 2,250,000 300,000
ek =3 E

47 |49 3} <[Phosphorus trichloride ; 7719-12-2] % 300,000 10,000

1 o2

o

£ 25% ol 3 £9=

f




48 | &2 [Fluorine ; 7782-41-4] 2 o]& 25% o] Sk 150,000 1,000
sl &3t=

49 |99 2 [Chlorine ; 7782-50-5] 2 o]E 25% o] Sh+ 450,000 10,000
sk 53 =

50 |33} 4=A[Hydrogen sulfide ; 7783-06-4] % o]= 150,000 1,000
25% ol 3 EFE

51 |[o}2Al = 4443 ¥ A [Arsine; Arsenic 15,000 500
trihydride ; 7784-42-1] % °o]& 0.1% °|* -3t
ol

52 | &2 2% E2HC Chlorosulfonic acid ; 7790-94-5] % 300,000 10,000
ol 25% ol T3 ==

53 | 23 [Phosphine ; 7803-51-2] % ©]& 1% o]4; st 15,000 500
3 &=

54 | S Al 93 <l[Phosphorus oxychloride ; 10025-87-3] 750,000 20,000
94 ol & 25% ol st =FE

55 [o]4tst o A [Chlorine dioxide ; 10049-04-4] ¥ o] = 150,000 20,000
25% o1 e E3E

56 |9 X & [Diborane ; 19287-45-7] % o]& 25% o]At 75,000 750
skl 23k =

57 | Ak}t A & [Nitric oxide ; 10102-43-9] ¥ o]& 1% 75,000 750
ol g3t ==

58 | Y E & W& [Nitromethane ; 75-52-5] % ©°]& 25% 60,000 20,000
ol g3t =¥ =

59 | AAF ok F[Ammonium nitrate ; 6484-52-2] % o] 90,000 30,000
2 3396 o]} &8 3

60 | A [Hexamine ; 100-97-0] 2 o] & 25% o]} st 90,000 30,000
3 &3=

61 | 248t 4=A[Hydrogen peroxide ; 7722-84-1] % o] 90,000 30,000
5 3% ol T =¥ =

62 |9 24 ZE[Potassium chlorate ; 3811-04-9] 2 9] 15,000 5,000
5 B% ol T =F=

63 | A4l ZHE([Potassium nitrate ; 7757-79-1] % o] & 90,000 30,000
98% ol et &




64 |9 24t ZHE([Potassium perchlorate ; 7778-74-7] 15,000 5,000
2 olE B% ol Tt =F=

65 | I d7HAE Z+ & [Potassium permanganate ; 300,000 100,000
T722-64-7] % o] & 98% o] g#3t &3&

66 | 924 YEFH[Sodium chlorate ; 7775-09-9] % o] 15,000 5,000
g 98% ol T3 3=

67 | A4t YEH([Sodium nitrate ; 7631-99-4] ¥ o] = 90,000 30,000
98% ol THT EHE

68 | AFA[O-Isopropyl methyl phosphonofiuoridate 15,000 500
107-44-8] 2 o] = 1% o] /3 &£ &

69 |93} A]¢HCyanogen chloride ; 506-77-4] % o] = 75,000 750
1% o] 73 ==

70 | YA ZF2 5 < [Nickel carbonyl ; 13463-39-3] % o] 75,000 750
5 01% o] 3 =3¢=

71 | ExAZ7 = AM4ast A Z2vkE[(Germane 15,000 500
Germanium tetrahydride ; 7782-65-2) % o]& 1%
ol gt =¥ =

72 | H Eg}&EF 2 2ol ' dl[ Tetrafluoroethylene ; 116-14-3] 15,000 500
2 olE 25% o]’ 3t TF=E

73 | E8] =F 2 & H W Trifluoroborane ; 7637-07-2] % 150,000 1,000
ol 1% ol 73 ==

74 | E8]E 22 B [Boron trichloride ; 10294-34-5] % 150,000 1,000
ol F 10% ol g3t =& =

75 | AAEF 2 2-13-F-EHdl  [Hexafluoro—-1,3-butadiene 15,000 500
; 635-63-2] ¥ o]& 25% o] Aok E3E

76 | P& [Bromine ; 7726-95-6] % o]& 1% o] g 75,000 750
sl =3t =

77 | A @3t =2 [Hydrogen selenide ; 7783-07-5] % o] 15,000 500
E 1% ol gt ==

78 | ol A~ X A [Isoprene ; 78-79-5] % ©o]& 25% o] &| 1,500,000 20,000
3 &=

79 |1,1-v &2 29 & #[1,1-Dichloroethylene ; 75-35-4] 75,000 750




9 o5 25% ol BRI EE

80 | A AL & t] A = AHHexamethyl disiloxane ; 75,000 750
107-46-0] 2 o] & 25% o] /3 &=

81 | e 721 Y AH[Pentacarbonyl iron ; 13463-40-6] 75,000 750
2 olE 01% °) s EFdE

82 | 2 &3} B &[Bromine pentafluoride ; 7789-30-2] % 75,000 750
olF 1% ol 73 ==

83 |93 ¥ &< ([Thionyl chloride ; 7719-09-7] ¥ o] & 75,000 750
25% ol i =FE

84 |A}4 3} o]l Bl [Titanium tetrachloride ; 7550-45-0] 75,000 750
2 o]lE 1% o] T =FE

&5 |F 2 =Z 39 ZH[Chloropicrin ; 76-06-2] % ©°]& 1% 75,000 750
ol g3t =¥ =

86 |1 g o H Z[Vinyl ethyl ether ; 109-92-2] % 1,500,000 20,000
o] 25% ol T3 ==

87 | A &[Silane ; 7803-62-5] E ©]E 10% o)At g3t 15,000 500
=3E

88 | YA #H[Disilane ; 1590-87-0] ¥ o]& 10% o] st 15,000 500
3 &3t&E

89 |Y & & 24 &[Dichlorosilane ; 4109-96-0] % o]& 15,000 500
10% ol &gt ==

90 | Egl &= 24 &HTrichlorosilane ; 10025-78-2] % o] 75,000 750
5 10% ol i3t 3=

91 |WE &2 24 & Methyldichlorosilane ; 75-54-7] 75,000 750
2 ol& 10% o] st e E

92 |vl ¥ B8] & 2 24 & Methyltrichlorosilane ; 75-79-6] 75,000 750
2 ol E 10% ol i3k E¥FE

93 | Eg] & = 2] d 4 &HTrichlorovinylsilane ; 75-94-5] 75,000 750
2 olE 10% ol T3 ==

9 | E E g &2 224 & Trichloroethylsilane ; 115-21-9] 75,000 750
2 ol& 10% o] st =&

95 | "l E gt YA &+ Tetramethylsilane ; 75-76-3] 2 o] 75,000 750

S 25% ol i Eg=

= pal




750

500

75,000

15,000

HEHF 22 g Z[Silicon Tetrachloride; 10026-04-7]

HEDGZF o2 28] Z[Silicon tetrafluoride ; 7783-61-1]
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